1 . Formulate the LPP

Step
2 - Construct a graph and plot the constraint lines
Step
3 . Determine the valid side of each constraint line
Step
4 ~ |dentify the feasible solution region
Step
5 . Find the optimum points
Step
6 - Calculate the co-ordinates of optimum points
Ste
P Evaluate the objective function at optimum points to get the
7 | required maximum/minimum value of the objective function

Q. Maximize and minimize z = 4x +y subject to:- x+y <50

3X +Yy <90
X X20,y20
100\_ A. The constraint linesare x+y =50,3Xx+y=90,X=0,y =0

3X +y = 90 Corner Point

Corresponding value

of Z
70 -
60 - C(o, 50) (0, 0) 0
50 (30, 0) 120
40 -
30 B(20, 30) (20, 30) 110
20 L (50, 0) (0, 50) 50
10 +
X 11— i » X Hence, maximum value of Z is 120 at
%10 20 070 the point (30, 0) and the minimum

value of z is 0 at the point (0, 0).




